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Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
O] ANRRT ey
(@) Mention one need for studying
economics.
SR Y GO ATl SCEy 9|

(b) Define market economy.

IR SIS iz |
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(2) ‘ , (8
(c) What is elastic'demand? () Why--is the average fixed gost curve
fofowiore SR R 2 rectangular hyperbola?
S 1 ' .
‘ 1% &3 I (RRIOrE {57 o YRS W ?
(d) Draw the perfectly inelastic sﬁpply curve.
oy SRR QIS (RIS o 1 | 2. Answer the following questions briefly : 2x5=10
4 S S AR 2P B T i
(e) Define an inferior good. . - (a) Distinguish between positive economics
PR ek e fn . and normative economics.
' T IR 5 o MR Wi wee

el fefy =4

( What is income consumption curve?

R Terzerst a1 R 2 - ST
' (b) State two exceptions of the law of

S ::‘( demand.
" (g) Distinguish between short run and long 3
run with the help of fixed and variable ik RRGE 151 e Bras 701
- costs. ’ ' - ,

1 % s IR 4RAR R TEIE (c) Distinguish between ‘change in demand’
oIF NI N Aol 3311 I and ‘change in quantity demanded’.

, , j iR ciReST oF PR ARTER AReS’y

(h) 'What is producer’s surplus? :» W-WMW '

Besimas Uge 2

(d) Prove that two mdlfference curves do not

. , intersect each other.
() “Supply curve is not

relev ;
 monopoly.” Why? ant  for o T @ A W @R It IR
' IS |
T IHTS I R »
R mm R
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(4)

(e} Why is the long-run average cost curve
‘U’ shaped? ‘

LA 9T IW @R U’ Spied 758 =02

3. Answer any four of the following questions :
5x4=20

el 2SR e vifbR Seg faa -

(a) What is budget 'line? Why does the
budget line slope downwards?
© Iwws @ 2 WwEs @@ Y wwE @@
|7 ‘ C

(b) Distinguish between normal goods,
substitute goods and complementary
goods.

FoRE A, Res TR WF AReEE i
&S A<l oty 1 |

(c) What is monopoly? Explain why the
glargmal revenue curve of g monopoly
lies below its average revenue curve

PCOIAN W e it | eontBa e o

SH R TS W @R e wmm g
AT IFAT | ’
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(5)

(d) Explain the behaviour of . profit
maximizing firms with the help of
marginal revenue and marginal cost
approach. o
AT W I AfF I RIS TS
o5 w1 ASORT SoT IR 4 |

(e) Explain that substitution effect is always
negative. . o
T T A 2 RN T AN |

() Derive demand curve for a Giffen good.
e AREAR SR R RS IR M,
forar | ‘

4. Answer the following questions : 10x4=40

oo 2PCARA Teq fra
(a) Explain how the price system allocates

resources. 10 -

T YR @R NI FRGT FE, I
3901
Or / a1

What are the main problems of an
" economy? How does a free economy solve
them? 3+7=10

e @ TemER B R0 T adaie
JRZR, (% TFPTICAR (FCTCA TAYH FCR 2
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(b)

(o

(6)

What is price elasticity of demand? What
are its determinants? Discuss. 3+7=10

TR ™ fEfewere e TR Rl &
1 2 e 4 |

Or / |1

" Explain the concept of marginal rate of

substitution with the help of diagram.
Why does marginal rate of substitution
diminish? ' v 6+4=10

Bay e AT RTEN TIT ARATET W

41 | oS afSes o1 9 pmm = 2

lExplain the determination of- wages
under competitive labour market. 10

- AfierER R IwRe WER WdRT efd

A AN
" Or/ 941

Derive input demand curves. Discuss the
factors responsible for shift in input
demand curves. 6+4=10

Tome SRR (RN PRATS 00 41 1 oy

TR (4 FARRE (AR FTRETE ey
]|
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(d) What is price rationing? Analyze the

impact of price rationing on the market.

. 2+8=10
T S R 7 T TS THT SRS T
o] ool REmI T 1
Or/ 91

Discuss the factors responsible for shift
in the'demand and supply curves. 5+5=10

ST SIF I (I TR (RN TP
e ¥4 | B
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